RIF3

REFSERLAE TFT
o RAAU

* ESRA

o ZR/ENEER

< BB Z TIEFR

novotechnik

Siedle Group

NOVOSTRICTIVE
SR RgEREA
{Ekas
JEERRTUAY

T™M1

BRSGE=
CANopen

(2 R LT v

=)

5=

« REERFNSEREIAR

o THUREEIR , BEBURENERIE

« IEE TVERMEES 350 bar ; IBETEES 450 bar
« MEUHREIES|S |, JEEAtNE

 TBRAGH IS

o BB AR PR

 EHEIHEES

- KMFEESIA 0.04%

« TIERE TR

s B ESRE/KFEMCERIIBEIZEMR A, ELanISO Bkt
HELRISO11452F it ESEEESTEL Ff,

o EAEESR I B AR B

ey ERHERERTMIT LIERRR T MR8 , SSMREMSFEVENE. RAMEMERE=MNT R | i
%1?&2%%@«1@%?*&%%%%%0 HEREREREARIUERSE , BRE&SIIA2000%2K, TRAZHIRIFEETHIMNE
Ho

588

R

: REE4W 1.4307 / AISI 304L
EZE : AISiMgBI

SUAF : AREESM 1.4571 / AISI 316Ti
4 - OBUBNBR 90 SH A

TE

JEIEM 181 4R T \JEHL

BSER

MI12x1fzsk , AR

NS
RY




novotechnik

Siedle Group

I TRaFRtE 5 EE

iTaHER AR

AT RS

75

0 5 0 0 -

BSiTIEEE

#0O
6: CANopeni%[d

EOSH
1: 1 x (G 1 x EHE (18R

ik o

1: iR455E 1000 kBaud
2: il 800 kBaud
3: {B4FE 500 kBaud
4: iB45ER 250 kBaud
5: i#4%% 125 kBaud
7: iR 50 kBaud

BSEE
106: 55 M12x138k

3 0 6 -6 1 4 - 1 0 6

kR
306: M18x1.5884%
308: M18x1.5884, ATRIRMALRE M4x6, 1B 7.5 mm

FmERTE 0050 = 2000 mm 25 mmigig

IR E RS

=]



novotechnik

Siedle Group

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/

AF46

[Tellts]
O
<~
EE 83
=4 M4 / 6 deep EE
8a &
Vi A L] @10
— -
Vi A
|
|
r A r~—+1
L1 4 I S N
TM1-___ _-308-_ _ _-1__ 11
With internal thread M4x6 E
ol
=
[
N
®
ks
E I Position marker
m Z
1L
I 1
o F% M18x1,5
)
~ @25
N g
|
[Te) o
o o’T <
S 8
T
=
M12x1

9298

T™1-_ _ _ _-306-__ _-1

=1



novotechnik

Siedle Group

BARZR
CANopen

BISENX TM1-___ _-306-6__-106
CANopen

MEXSER B, ERERE

BSTIERE (RYL) 0..50 mm Z 0 ... 2000 mm

BITERE 25 ...1000 mm/s

Y CANopen protocol to CiA DS-301 V4.2.0, Device profile DS-406 V3.2 Encoder Class C2, LSS services to CiA DS-305 V1.1.2

AIRIESEL 8, HE, 088, TIFER , BE , TRID , iREFE

£Er3ID 1..127 (BRINEL27)

R 50 ... 1000 kBaud

EIES 1 kHz ( REPUESE: 0.5 kHz)

BEDH=R <0.1mm

BEDHER 2mm/s

EIIME < +0.04 %FS (F/\300 pm)

BSERNE +1 mm

arESH < 0.1 mm

wE < 0.1 mm

REIRE < +15 ppm/K (&) 0.01 mm/K)

T{FEBEUD 12/24 VDC (8 ... 34 VDQ)

TAEERIERa <10% Ub

FRERTIE <15W

HERR 40 VDC (6 s)

MR R R B (BIRLAIEE)

FEEERIP B (FrEimHIIGNDFINS TIEEBE)

#43FR17,(500 VDC) > 10 MQ

MEBUSLRi 7 (BIEHIPERRRHT 120 Q )

MESH

BATIERE TR a5

iRaNHEHR IEC 60068-2-6

20 g, 10 ... 2000 Hz, Amax = 0.75 mm

Fusdtgts IEC 60068-2-27

100 g, 11 ms (single hit)

B4 DIN EN 60529 P67

TIERE -40 ... +105°C

TIERE 0..95%RH. (Fi&%k)
TEEH < 350 bar

ENEE < 450 bar

WEEN > 700 bar

W& FIRHVRE S

RERSMER WMRIBAT = RATRAEXNRST | BRI
MTTF (IEC 60050) 391 4

PRI REFHIS | FREFIARD
A EMC iR

ISO 10605 ESD ( E&fA/4Bf4 ) 8 kV /15 kV

ISO 11452-2 S4iEsH7EinE 100 V/m

ISO 11452-4 BCI JBAEBFHENTE 200 mA

CISPR 25 {E5THERT & Level 4

ISO 7637-2 Transient Emissions Level 1/2

ISO 7637-2 EJREBKENNE

(1, 2a, 2b, 33, 3b) Level 4

ISO 7637-3 B3Rt HERkE

(3a, 3b) HRKIFE2

ISO 16750 EBRERKEIHRAE
EN 13309 EZFHIINE

Starting profile Level 4 @12 V / Level 3 @24 V, Load dump A +200 V

ISO 14982 Rl /FRAlHNHATIE
AER/BRIFER

FHnESEESTEL il

FS= REE . WRESNEERENESE

=i
i

REMUEREARISREL N ESFERE.



novotechnik

Siedle Group

SHEEGE X

=8 Bk

S 106

T{EEEUb EHH 2

B EHHD 3

CAN_H £ 4

CAN_L ST 5

ESEdE EHHD 1

Pin assignment M12
5-pole, A-coded

=1



novotechnik

Siedle Group

RIS HHR

Z-TH1-P18
INFZREER |, M3IRZLEE
L2154 PA6-GF
=& #4129
TIERE -40 ... +100°C
=EEH #3 40 N/mm?
ol & b S LeREIRyy BE SFEERA 100 Nem
MR ) ] £()
200005697 1
Z-TH1-P19
. N Z-TH1-PD19 #theE
32 5 IR . MARLLEITE, RILUSIR AR
L BRE
T+ \(j\ MR PA6-GF, Spacer: POM-GF
4 B Ei #5149
= . ém N ﬁq\ o & TIRRE -40 ... +100°C
) 2 ‘|‘ Qﬂ/ S 9 FEEN #7 40 N/mm?
IRy BEJERA 100 Nem
KCD\ RS Spacer ®£(4)
200005698 - 1
Spacer 225- I 400107117 incl. 1
Z-TH1-P30
P o IR | BN HERARE
%15 NdFeB bonded (EP)
= #5¢g
TYERE -40 .. +100°C
FEEN #7110 N/mm2
_ ] f®(1N)
I | 200106139 1
Z-TH1-P25
VBB , MABEE
% AR BREARY , B2REPFM
(%154 PA6-GF
TIERE -40 ... +105°C
1o g 3 gI S HEED £940 N/mm?
s © ) IR B EAMERA 100 Nem
= ] f(1)
E 200105076 1
0|
3
9,5




511 <
o
A5 (] 10
[ .
3 3
S |
P17 2
@41
|
|
d .
o | — (32
1
|
@18

29,56

novotechnik

Siedle Group

RIS HHR

Z-TH1-P32
IR R

%153 TREBIN 1.4571
=8 #4429
TIERE -40 ... +100°C
M ERE < 40 bar
BE 720 kg/m3
BKEE 36.7 mm
FEERmE £(N)

400105703 1

Z-TH1-P21

TTRYEIZTIRIR

(%153 TEEN 1.4404
g8 #3209
TERE -40 ... +100°C
M ERE < 8 bar

=E 740 kg/m?
BKRE #326.6 mm
PR £

400056044 1

IEFASIF IR | B RHIRERE | RITE
(ERREEERERINEE | AR EIREER
PR NERLAME RS, ( BIRITER
|)

Z-TH1-M01
HHEIRE 1SO 8675, M18x1.5-A2
FEmimRg ®2(M)

400056090 1



PSR 1P67

IP67 %4 DIN EN 60529 Rife
IhiFSF4R 1P68

IP68 | zo DIN EN 60529 #Rtt

T8

ey

3 4 1 = Schirm / shield
o © 2=RD (0,34 mm?)

° o ° 3=BK (0,34 mm?)
4=WH (0,25 mm?)

2 A 1 5= BU (0,25 mm?)

@

—
S'vy

215

10 Buchseneinsatz M12
SW 13mm Female insert M12
SW13mm [T ] =
—] e
@ o = 1x Stifteinsatz M12
= Tx Buchseneinsatz M12
B + ¥ < Ix male insert M12
= — Ix female insert M12
ofH} 2
| =
129 104 B
0145 3 4 1-nc.
M2x1 o o 2=n.c.
L 3=n.c.
'_i_' ° © o 4= ™% Widerstand /
2 5= ~Jresistance
5 | 1200

414

CAN

HRERAOFBRRTERE (EMC) Fff
((li:)) Fifiken

d‘. RFATHUES. SE00E. IHEmE

C \ EITESREEERE. SRR

UL |18 ULIAE

novotechnik

Siedle Group

BLE M12 R5EsL

EEM-33-49/50/51
SEtMI2x1MIEREL | AR, HEEEREMS , WR
& (shield on knurl) , IP67 , £LiRiREE
LT TPU
EBUNIRE PUR, @ = 6.7 mm,

-25 ... +90°C (}RELEY)

-20 ... +80°C (F3458Y)

EES PE, 2x0.25mm?2+2x0.34
mm?

PR BSENX KE

400106368 EEM-33-49 2%

400106371 EEM-33-50 5%

400106372 EEM-33-51 10 %

EEM-33-52

SEMI12x1M/EREL , AR, YA,
TR (shield on knurl) |, IP67 , Zimid

#& , CAN-Bus
HELANE PUR
BAHRE PUR, @ = 6.7 mm,
-25 ... +90°C (HEsL/HREERY)
220 ... +80°C (EB4ETY)
S PE, 2x0.25mm2+2x0.34
mm?2
PR BSEN KE
400106373 EEM-33-52 5%
EEM-33-45

TEEESL , 55tM12x1, AR, IP68
L1, M- O - M%548 , CAN-bus

b ] PUR, -25 ... +85°C
PR BSEX
400056145 EEM-33-45
EEM-33-47

5 $tM12x1 E120Q &KikeEE , A B
1P67 , CAN-bus

LN PUR, -25 ... +85°C
PR BSEN
400056147 EEM-33-47

CAN | cAN-bus



novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2022-7-18

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.

b=
©



